Organization

DRAM Address

Example Physical

Corresponding

(Figure 3.9) Breakdown Address DRAM Address
0x4321
. 18 1z 2190 (1000011 00100001 RAS=4
Serial ‘ RAS ‘ CAS ‘ CS ‘ 0100 0011001000 01 CAS=0C8
non-interleaved, M~~~ CS=1
8-bit data bus RAS CAS Cs
0x4320
Paralle] 15 121 210 01000011 0010 0000 RAS—1
arate 0100 0011001000 00 _
non-interleaved, ‘ RAS ‘ CAS ‘n/a ——— — O CAS=0C8
32-bit data bus RAS CAS n/a
o 18 1z 210 100000100101 0001 CAS—094
Serial interleaved, ‘ RAS ‘ CAS s g‘ 1000 0010010100 0 1 Ba=0
8-bit data bus 2 . —— o
RAS CAS Ba CS CS=1
0x8254
Paralle] 15 121 210 1000 0010 0101 0100 RAS=8
aralle B|Y CAS=095
A ‘ A /‘ 1000 0010010101 0 O
interleaved, 16-bit ‘ RAS CAS *la b o e adihe ad Ba=0

data bus

RAS CAS Ba n/a

Table 1: Correction to Shen and Lipasti’s Table 3.3: Translating linear physical
address to DRAM address



